

$$45) F(x) = x \cdot 9^x \quad x e^{\ln 9 \cdot x}$$

$$F'(x) = 1 \cdot 9^x + x [\ln 9 \cdot 9^x]$$

$$= 9^x (1 + x \ln 9)$$

$$47) g(t) = t^2 \cdot 2^t$$

$$g'(t) = 2t \cdot 2^t + t^2 \cdot (\ln 2 \cdot 2^t)$$

$$= t 2^t (2 + \ln 2 \cdot t)$$

$$t^2 \cdot 2^t$$

$$t^2 e^{\ln 2 \cdot t}$$

$$2t \cdot \cancel{e^{\ln 2 \cdot t}} + t^2 \cdot \cancel{e^{\ln 2 \cdot t}} \cdot \ln 2$$

$$2t \cdot 2^t + t^2 \ln 2 \cdot 2^t$$

$$43) y = 5^{-4x} = e^{\ln 5 (-4x)}$$

$$\frac{dy}{dx} = e^{\ln 5 (-4x)} \cdot -4 \ln 5$$

$$= 5^{-4x} (-4 \ln 5)$$

$$y = 5^{-4x}$$

$$\ln 5 \cdot 5^{-4x} (-4)$$

$$45) F(x) = x \cdot 9^x$$

$$F(x) = x e^{\ln 9 \cdot x}$$

$$F'(x) = 1 e^{\ln 9 \cdot x} + x \cdot \ln 9 e^{\ln 9 \cdot x}$$

$$= 9^x + x \ln 9 \cdot 9^x$$

$$= 9^x (1 + x \ln 9)$$

$$49) h(\theta) = 2^{-\theta} \cos(\pi \theta)$$

$$h(\theta) = e^{-\ln 2 \cdot \theta} \cdot \cos(\pi \theta)$$

$$h'(\theta) = -\ln 2 \cdot 2^{-\theta} \cos(\pi \theta) - 2^{-\theta} \sin(\pi \theta) \cdot \pi$$

$$= 2^{-\theta} (-\ln 2 \cdot \cos(\pi \theta) - \pi \sin(\pi \theta))$$

$$57) F(x) = \log_2 \left(\frac{x^2}{x-1} \right)$$

$$F(x) = \frac{\ln \left(\frac{x^2}{x-1} \right)}{\ln 2}$$

$$F(x) = \frac{\ln x^2 - \ln(x-1)}{\ln 2}$$

$$F'(x) = \frac{1}{\ln 2} \left[\frac{2}{x} - \frac{1}{x-1} \right]$$

$$\frac{2(x-1) - x}{\ln 2 \cdot x \cdot (x-1)} = \frac{x-2}{x \ln 2 (x-1)}$$

$$\log_2 x = y$$

$$2^y = x$$

$$\ln 2^y = \ln x$$

$$y = \frac{\ln x}{\ln 2}$$